CHAPTER 2: DETERMINING THE TOPIC OF A PARAGRAPH
SET 3 QUIZ

Read each paragraph, and then determine its topic. Ask yourself, “Who or what is this paragraph about?”

1.

Economists define “saving” as that part of after-tax income which is not spent; hence, households have just two choices of what to do with their incomes after taxes—use it to consume or save it. Saving is the portion of income which is not paid in taxes or used to purchase consumers goods but which flows into bank accounts, insurance policies, bonds and stocks, mutual funds, and other financial assets.

Source:  Campbell McConnell and Stanley Brue, Economics, 14th ed., New York, McGraw-Hill, 1999, p. 79.
The topic is

a. mutual funds.

b. saving.

c. insurance policies.

d. income used to purchase consumer goods.

2.
    Estimates are that between 20 and 60 percent of state correctional populations suffer from psychopathy. Psychopathy, or antisocial personality, is characterized by an inability to learn from experience, a lack of warmth, and no sense of guilt. Psychopaths lie and cheat without hesitation and engage in verbal as well as physical abuse without provocation. Theodore “Ted” Bundy is a classic example. Bundy, a former law student and former crime commission staff member, killed between 19 and 36 young women in the northwestern states and Florida. The handsome physical fitness enthusiast often brutally sexually attacked his victims before murdering them.

Source: Freda Adler, Gerhard Mueller, and William Laufer, Criminal Justice, 2nd ed., New York, McGraw-Hill, 2000, p. 52.

 The topic is


a. Ted Bundy.


b. psychology.


c. psychopathy.


d. serial killers.

3. 
Preoperational Thought  
      Jean Piaget identified the time period from 2 to 7 years as a transition from the sensorimotor intelligence of infants to the rule-governed thought of school-age children. He named this time the preoperational period because preschoolers were believed to lack the sophisticated cognitive operations he saw in school-age children. According to Piaget, children thought intuitively and conceptually but not logically.


Source: Adapted from Laurence Steinberg and Roberta Meyer, Childhood, New York, McGraw-Hill, 1995, p. 242.
The topic is


a. Jean Piaget.


b. preoperational thought.


c. young children’s thinking.


d. sensory motor intelligence.

4. 
     An oligopoly is a form of competition in which just a few sellers dominate a market. Generally, oligopolies exist in industries that produce products such as cereal, beer, automobiles, soft drinks, aluminum, and aircraft. One reason some industries remain in the hands of a few sellers is that the initial investment to enter an oligopolistic industry is usually tremendous. In an oligopoly, prices tend to be close to the same. The reason for this is simple. Intense price competition would lower profits for all the competitors, since a price cut by one producer would likely be matched by the others. Product differentiation, rather than price differences, is usually the major factor in market success in a situation of oligopoly.

Source: William Nickels, James McHugh, and Susan McHugh, Understanding Business, 5th ed., New York, Irwin/McGraw-Hill, 1999, p.p. 55-56.

The topic is


a. oligopoly. 


b. product differentiation. 


c. intense price competition.


d. lower profits for all competitors.

5. 
     Nicotine addiction is only part of the problem of tobacco use. Analysis of smoke from burning tobacco reveals over 4000 separate compounds, including DDT, arsenic, nitrosamines, and formaldehyde, which are all known carcinogens (cancer-causing agents). Similar tests of chewing tobacco reveal traces of three additional carcinogens: cadmium, uranium, and polonium. One of the most damaging compounds in tobacco smoke is the poisonous gas carbon monoxide—the culprit when someone dies from the fumes of a running car engine in a closed garage.


Source: John Postlethwait and Janet Hopson, The Nature of Life, 3rd ed., New York, McGraw-Hill, 1995, p. 162.

The topic is


a. tobacco.


b. dangers associated with nicotine.


c. dangers besides nicotine associated with tobacco.


d. known carcinogens.

6. 
     Rites of passage of contemporary cultures include confirmations, baptisms, bar and bat mitzvahs, and fraternity hazing. Passage rites involve changes in social status, such as from boyhood to manhood and from nonmember to sorority sister. There are also rites and rituals in our business and corporate lives. Examples include promotion and retirement parties. More generally, a rite of passage may mark any change in place, condition, social position, or age.


Source: Conrad Kottak, Cultural Anthropology, 8th ed., New York, McGraw-Hill, 2000, pp. 311-12.
The topic is


a. bar and bat mitzvahs.


b. promotion and retirement parties.


c. fraternity hazing.


d. rites of passage.

7. 
   Older adults with a history of chronic obstructive lung disease, cardiovascular disease, diabetes, or alcoholism often encounter a potentially serious mid-winter form of pneumonia known as acute community-acquired pneumonia. Characteristics of this condition are the sudden onset of chills, chest pain, and a cough producing sputum. In addition, a symptom-free form of pneumonia known as walking pneumonia is also commonly seen in adults and can become serious without warning. 

Source: Wayne Payne and Dale Hahn, Understanding Your Health, 5th ed., New York, McGraw-Hill, 1998, p. 399.
The topic is



a. older adults’ health.


b. walking pneumonia.


c. acute community-acquired pneumonia and walking pneumonia.


d. lung disease, diabetes, and cardiovascular disease.

8. 
     Presidents can influence the federal courts through their judicial appointments. For example, when Democrat President Bill Clinton took office in 1992, more than one hundred federal judgeships were vacant. President Bush had expected to win reelection and had not moved quickly to fill vacancies as they arose. By the time it was apparent that Bush might lose the election, the Democrat-controlled Congress was able to delay action on the nominations. This enabled Clinton to fill the positions with loyal Democrats who could be expected to partially offset the influence of the Republican judges appointed during the previous twelve years by presidents Reagan and Bush.

Source: Adapted from Thomas E. Patterson, The American Democracy, 5th ed., New York, McGraw-Hill, 2001, p. 479.
The topic is



a. Democrat president Bill Clinton and judicial appointments.



b. federal courts.



c. how presidents influence federal courts.



d. Republican judges appointed by Reagan and Bush.

